EARAROBREBRT —5 XN—ZXBISH—F 202318228 (B) 10HR8H

mﬁf%'ﬂﬁi 1BISR T2 BRI
[AE%) 1 & :8,000,000  ~ 23&:3,200,000 W  33#%:2,000,000 . 43#&:1,200,000 9 ~ 5 7&:800,000
RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
@A aAHE i 7 iglzjgﬁ 1:(1_3).1 4-3 37.2193.2| 9 (4+563) gﬁ%ﬁ(;?)
RiFVh—0 BIZIES Botis
w o D. 41—#2 : - FE= (K]
IA4 4T v R)5— [B] 44 53.04 4 1(.11/32.)2 4-6 37.2| 92.3 | 1 (_rﬁf; g%ﬁ%ﬁ_ ESE)]
RiNZ—k1—R B:FSEVTAT ASARIY b
o < it 4 | EITAR 1:13.3 2-2 37.7| 9.4 | 7 | 438 BE—H ER
®NVTx—2Y g 58.0 (3/4) -6) H. FAssociation
RZAMOVIUI—Y B: TSN NIUAT7—L
N — 2w JISEZ : - mlEe (FR)
®JYUay hILIX R ¥ 1(,1;)3 A A R ('ng) DR
R:AN/UwF— B:ZZAI—=TF)IL LERS
S _ 4 5 | FHEZ 1:13.5 10-9 36.9| 8.5 3 34 | B/AEE (FH)
50815/ L¥vU—=TI 56.0 a 1) (g | (B Bitis
RiF4RAIU—brFrwv s B:JUAD BRI
~,3% s 4 | SHEE 1:13.6 8-7 37.3| 8.6 | 4 494 | THIEEZ F®R)
3 3 ! 58.0 (3/4) @) | ) JIRUFA—PSTL v KR
RIARASKRI—9 B:T+—/\ERR EEZIY R
SEER 113. - . . HEFSIE (FR)
715 o | PRAFIRK 4| B 1(11/32)7 109 |37.1]87.7 | 15 (4320) T
RIIARD=IYF— B:Ta—=VFTIYN pellte]
we e e B. LILYNT : - BoRFE (FR)
8l1l1 BUNFLA=SZ 4 4 e 1.(113).9 1-1 38.3| 86.1 8 (:1?2) e
XR:O—kAHrrO7 B:RU—Z—h—Y gl &
= P JIEZEYS 113, - . . BHEHEZ (FR)
9 6| ®F—F—IL/ 7=l [B] ev5 | N (1715:,&79) 12-13 | 37.2| 85.8 | 14 5(8? s
RiN«A40 B:A—YvrIU—h MBS
- © oy = JIZERE 4. = . . EERE—BB (2H)
10/ 5| 8 | *IT v FNZ— e |0 s N R R (4_03 HEEE
RiALYITSvoElL B:XUF—)b RS
W \ ; _ e
" : ML =%k N () o4 | MK 1(.11/42.)1 8-9 378|841 12 z:g;: gﬁé &R
RiF4RIU—brFvv b B:OVY—VFvh Pui e ]
L NE— LT : - AHE (EF)
B0l TUBRz= L B4 B 1.(114).2 12-12 [ 37.5| 83.1 | 2 (4_43 2l
RiRSAYF B:F9ADITS5—F 799577 =LA
~, 0 HURAZ 4. - . . EEE—ER (ER)
1317013 74 ba=vs— [B] i o6 EVE 1(155 7-7 38.4 80.9 | 13 (z_t?g) el

RIZAEILN=T B:TTVAA BRI 7—L

= S 5 | HAEIES 1:14.6 15-15 | 37.6| 79.4 | 10 | 480 |/\EFXRER ()
1408 7 | TILXIVD e 58.0 @E) (4) |HBEE
RiP—RANU— B:FIWITPI/IvT TJ7Z—EILT7—LA

158114 9,_(7?\_ZU7\IX o4 gtg%(; 1:(175;.7 33 9.9/ 719 | 6 z:g;) ggﬁi (FER)
R:STU—FA B:0T—FvY PIRIHUS
[ IR NN
1) 49.2-37.5
NOYIA L | 12.8-11.1-11.7-12.1-12.4-13.0
@ 1—F—@BIEfI
13=zr=
20—F—
IT=7r= (*1,12)14(3,2,11)13(4,5) (9.15) (6,10)8,7
41— — (+1,12) (3,2,14)11(5,13) (4,9,15)10(6,8) 7
@ I RE
B B 2 2,150 | [ 94K 2-1 1,330/ | | # = 2-6 6903 | | 3=, | 2-11-12 18,860M
B B 2 490MH 2-12 3,190 | | /5 = 2-1 3,690 | | 3&&E | 2-11-12 197,500/
" 230 11-12 1,610 | | & & 2-1 15,0508
12 350M9

ABIC OV TRUTEREERRODDZE. THRIIZEL.



